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Answer all queslions Each cares % rnark :

1 ln a rnalrix alllhe elements sbove ihe leadlng diagona are zero'

a) Upper irlangular

c) Diagonal

2 |1252t3=
a) l/5
c) 1/50

3. ffJ3*'=27,lhenx=--
aJ2
c) 4

4

4 [A= 5

9

a) 29

b) Lowerlriangular

d) Scalar

b) 1125

d) r/r25

b) 3
d) 6

b)

d)

3

I
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Answer any four qleslions. Each canies'l mark

5. Whai is idempotent matrx ?

6. li4I 9 = 12 :X.lind X

7. l'.Ir. P can cornpele a work in 12 days wh|e
compiere it in 4 drys How many days wi be
the sam-a worl hv h ms.h ?

Bationalise rhe denomrnaro t at -!Ev| J7
Twoihird ol a numberd€creased by 7 equas -r.
llP :Q=3:4, O : B=5r 6and R :S=8r 9,tind

llll ll l [ t I U

i,4r. P and [4r Q together can
requ red lor [,4r. O io complete

P:Q:F]S

8.

L

10.

Answer any six questio

11 231
11 ll A= 2 0 1

L] r 2l
'12. Vedly De l4organ's

13. Sotve 3x+3 = 92x +1.
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Each carres 3 marks

he cou d nol repay any amouni in
Rs. 26.500lrom him. Whal is the

B= c= , lnd 2A + 38 4C.

41, =11,2,3,4,5).

14. A nan buvs 7 rrobirs dno 8 dogc'or Fc 8o95 ard1rrbbr.5 d o 9oogs,o
Bs 7 360 Whal s lhecocr.ie;.h ?

15. [4r. Xborrowed Rs.20,000from a bank, bul
a period oI4 years. So the bank dernanded
rale of interest charged by bank ?

16. Explain the following with examples:
b) S nqleton sel

17. ll ..6 = vZ + v5. show rhal /2 iO,+1=o

18. ConsruLr rhe r' .t_ table ro prove -'o v qr p - q

c) Dsloini sets

(6:3=18)
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Answprany lwo quesrions Each ca es8ma.{s

1 9. Solve the iollowing lnear equations using matrix melhod :

2x+4y+z=7
1Ax-2y+92=17

20 a) Simplily
z'6 + :.i2

(,6 . i5) (i5 . 
"E)

b) lf x=\E+1, showlhalx2+ 1/x2 = 6.

21. a) A machlne cosis Bs. 50,000. Calcllale ts scrap valr,te al the end ol
8 years. Depreclation was charged @ 10% p.a. on the diminishing balance

b) l-low long would a sum of monev take to double itsell allowed lo accumulale
al 41,% compound nleresl payabe yearly ? (2x8=16)


